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English
Unit 6
Sir Lawley’s Ghost
(Asha Nehemiah)

Why was Lawley’s Boarding school an ideal place for a ghost?

‘Or this ridiculous tale about the invisible ghost...” Why did the speaker
feel that it was a ridiculous tale?

Why was Rustom scared when he discovered the cause of footsteps?
How did the matron get to know that Arjun had smeared red ink on his
pillow?

Why did everyone think that Arjun was crazy?
The Clothes Line

What is described in the poem?

What is the subject of the poem?

Make a list of things the poet compares the clothes to?
In what way do the clothes resemble witches?

Which item of clothing flew like a bird? What happened to it?

Unit -7
Raoul the Owl

Why did Raoul refuse to eat a mouse offered by his mother?

What miraculous change came in Raoul’s life by changing his habits?
‘Oh, please Mr. Hawk, let me go!” squeaked the sad little mouse hold-
ing his little hands together.

Why did the mouse address the creature as Mr. Hawk?

Who was the mouse actually speaking to?

iii) What had Mr. Hawk done to the sad mouse?
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“Now don’t be hasty” why did Betram addressed Raoul as being hasty?
What solution did Betram give to Raoul when he said he could not see

too well under the bright sun?

Unit-8

Grandpa’s Tree

What does Erik’s mother wanted to do?
What happened to Erik?
Why did Erik decide to climb the tree?
Was Erik alive when grandpa planted the Oak tree? How can you tell?
What was Erik looking for when he rolled over to the bottom of the
tree?
Ice Golawala
Who is the speaker of the poem?
What is the poem about?

From where did the poet save paise for Ice-gola?

Unit-9
My Life

Where did Abdul Kalam do his primary schooling?

Who was Kalam’s best friend? What all did he say about their friend-
ship in the lesson?

How were the birds able to fly in the direction they wanted to?

How could their teacher Sivasubramania Iyer explain his students about
the engine that powers each bird?

What did prompt Abdul Kalam to decide his career path?

Where did he shift his schooling to, at the age of fifteen?
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Answer Key

Unit 6 Sir Lawley’s Ghost
The school was old and the dormitories were full of eerie shadows.
The speaker felt so because he did not believe that ghosts existed.
Rustom was scared because he thought he had actually seen a ghost.
She came to know this because she read the name marked on the pillow.
Everyone thought that Arjun was crazy because he was the only one out
of 500 students in the boarding school who said that he did not believe

in ghosts.
The Clothes Line

The clothes are described in the poem.

Specifically it is about a handkerchief of the poetess that blows away
and is lost.

The following is a list of things the poetess compares the clothes to:-
like fluttering creatures, white as snow, like restive horses, like fairy-
tale witches, like a flying bird, like a sail in the sun.

According to the poetess the clothes resemble witches in the way they
dance wildly.

The poetess’s handkerchief flew like a bird. It danced excitedly, and
struggled till it was free, then leaving pegs and clothes line behind, if
flew like a bird and no one can find it. The poetess guesses that the

handkerchief may be in some ditch or drowned in the sea.
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Unit -7
Raoul the Owl

Raoul refused to eat a mouse offered by his mother because recently he
had befriended another mouse who had provided him a good company
and bird seeds. So he could not think of eating any other mouse.
When Raoul decided to sleep at night and wake up in the morning, he
discovered he could see in the day light and started enjoying the beauty
of the sky, meadows, forest and green full of flowers.

Since owls are not seen at daytime, the mouse, from a distance, thought
the bird to be a hawk.

The mouse whose name Betram was actually speaking to Raoul whom
he had mistaken for a hawk.

The hungry Raoul had attacked the mouse with an intention to eat him.
After a day in the sun, Raoul started feeling that he was not able to see
clearly. This was considered hasty by Betram.

Betram arranged a pair of toy sunglasses to protect Raoul from the glare

of the sun.

Unit-8

Grandpa’s Tree

Erik’s mother wanted to cut the tree.

Eric’s leg got injured.

Erik decided to climb the tree because he did not want the men to cut it.
No, Erik was not alive because his grandfather planted the Oak tree 30
years ago.

Erik was looking for a peg in the tree, at the place where he usually

started his climb.



Ice Golawala
The speaker is a small child, may be a school going child.
The poem tells about the happiness that the Icegolawala brings during
hot summer days. The poem gives a perfect decription of children’s
love for ice-creams and the joy it brings.

The poet saves paise from his bus fare.

Unit-9
My Life

Abdul Kalam did his primary schooling in Rameswaram Elementary
school.

Ramanadha Sastry, was his best friend. They had known each other
from the first day they came to school and been friends ever since. They
never ran out of things to say to each other and do together.

They were able to fly in the direction they wanted by using both tail and
wings.

He explained that each bird is powered by its own life force and moti-
vation of what it wants.

Their teacher’s real teaching by taking them to seashore and explaining
the concept of flight dynamics in birds made him to decide his career
path.

He decided to move to the Schwartz High School in Ramanathapram at

the age of fifteen to achieve his goal.
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Lesson 11
Plant and Animal food

Fill in the blanks
____prepares food in the fleshy stem.
Herbivores are  consumers.
Green plants prepare their food by the process of .
Give 2 examples
Herbivores
Carnivores
Omniverse
Scavengers
Parasite
Insectivorous plants
True or false
Insectivorous plants grow in soil which lacks nitrogen.
We get food from plants.
Extra food is stored in form of glucose in different parts of plants.
The pitcher plant is shaped like a jaw like leaf.

Lesson 12

Shelter for everyone

Rewrite to make the sentence true
kachcha houses are common in towns.
Bungalows are built in area where it rains heavily.
People in Sumba island of Indonesia make houses from bricks and

stones.
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II.

Case study

In ant hills the queen ants lay eggs and worker ants look after the
eggs and find food.

Are ants social being? give reason

What is the work of the queen .

Match the following

Canvas a.heavy rainfall
stilt b.drones

male bees c.tent

houseboat d.house on wheels
Caravan e.lake

Lesson 13

In times of emergency
Name the following
Which natural disaster struck on 25th December 2004 in the countries
bordering the Indian Ocean.
During cyclones people should regularly here the bulletins on__
Which kit should be kept ready during all natural calamities.
Strong earthquakes or a volcanic eruption under the sea causes
Case study
The clouds were furious and the winds crashed the neighbours fence.
The wind was roaring creating damage . Weather bulletins were
scrolling on the TV screen. The window breaks off the walls and
falls on my leg.I was hurt .I saw my village flip a part.
Which type of natural disaster is mentioned in the passage.
How is the warning of the coming disaster informed to people.

What precaution should be taken for this disaster.

-18-
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Write full forms of
NGO
UNDMT
Case study
There was a fire out break in the nearby petrol pump. One of the
staff was caught up in the fire.
What is the emergency number to be dialed during a fire out break.
What material is used to put out the fire and why
What first aid can be given to the staff caught in the fire.
Lesson 14

The story of water

Match the following

Rajyon ki boali a. Delhi

Dada Hari boali b. Gujarat
Chand boali. ¢ Rajasthan
watermills d. Persian wheel
Dead sea e. Israel

Classify into soluble and insoluble substances

Stone, milk, cotton clothes, coffee, petrol ,salt ,sand ,flour

Fill in the blanks

Density of water can be increased by adding _ in water. 2.The
heaveness or lightness of an object is called it

___is the main source of water.

__is a small wheel around which a rope can be moved.

-19-



Lesson 15

Aquatic Life
I.  Fill in the blanks
1. The male sea horse carries it’s egg in its
2. —-is an organ through which some aquatic animals breathe.
3. isatiny organism with a single cell.
4. Malaria is spread by female _ mosquito.
5. isone of the oldest living organisms on earth.
6. Water birds have _ feet which helps in the swim
7. A dolphin breathe through nostrils called
8  and  are aquatic mammals.
II. Find Odd One
1. Chikungunya, cholera, malaria, dengue

2. Whales, dolphin, seals,goldfish
3. Crayfish,lobster, jellyfish barnacles
III. Case study
Mohan was suffering from high fever and shivering when he came
back from school. The class teacher informed that he vomitted twice
at school. His mother to him to the doctor.
1. What did the doctor say Mohan was suffering from?
2. What were the symptoms? 3.which insect carries the disease
causing germs?
4. Which type of germs cause the disease ?
Lesson 16
Fuels for vehicles
I.  Fill in the blanks
1. and __ are fossil fuels.

2. Neyveliisa _ mining centre of India.

20-
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1.

I.
11

1.

petroleum or mineral oil is known as
____is obtained from oil field.

Write full form

LPG, CNG, ATF

Give two examples.

States in which coal mines are present-
Alternative fuels-

vehicles which use diesel-

vehicles which do not use fuels-

fossil fuels -

vehicles drawn by animals-

Answer key
Lesson 11 Plant and Animal food
Cactus, primary, photosynthesis
1. cow, goat
2 lion tiger
3 Hyena ,vulture
4 Leeches ,roundworm
5 Venus fly trap, sundew plant
True, true ,false ,false
Lesson 12 Shelter for everyone

Villages, stilts ,bamboo and grass
1. yes ,because they live together in groups
2. Qeenbee lays eggs
1 ¢ 2a 3b 4e 5d

21-
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III.

IV.

II.

III.

I

III.

Lesson 13 In times of emergency
Name the following
Tsunami , TV ,first aid ,Tsunami
l.cyclone, 2TV
3. a.keep first aid kit
b.listen to weather bulletin on TV
Non Government Organisations
United Nations Disaster Management Team
1. 101
2. Sand ,because petrol is lighter than water it floats on water and
keeps burning.
3. Make the person roll on ground.
Wrap in thick blanket or carpet.
Lesson 14 The story of water
la 2b 3c 4d Se
Soluble substances
milk coffee petrol salt flour

Salt ,density, rain, pulley

Lesson 15 Aquatic Life
Fill in the blanks
Pouch, gills, protozoan ,anopheles, jellyfish, webbed,blow hole,
dolphins &Whales
cholera, goldfish, jellyfish
1. Malaria
2. High fever vomiting shivering
3. mosquito

4. protozoan

22



Lesson 16 Fuels for vehicles
I.  Petrol and diesel, coal mining centre, black gold, crude oil
II  liquefied petroleum gas
Compressed natural gas

Aviation turbine fuel

11

1. Madhya Pradesh, Chhattisgarh
2. hydrogen, biofuels

3.  bus, lorry

4. bicycle, cycle rickshaw

5. petrol, diesel

6. horse cart, bullock cart

23-



D A o

—_ = =
NN = O

13.
14.
15.

1L

Mathematics
Lesson - 5
Multiples

Fillup:-

Smallest multiple of 71 is ..........

First two common multiples of 7 and 14 are ....... s e

4" multiple of 8 is ...........

LCMof2and3is......

Multiples of a number is ............... or equal to the given number.
LCM of two consecutive numbers is always ..........

First odd multiple of 7 is ...........

Odd multiples of 5 between 1 and 20 ............

LCMof4and 24 is ..........

. The lowest comon multiple of two or more numbers is their .........
. LCM of two consecutive even numbers is ..........

. The smallest number of fruits which can be arranged in groups of 3, 4

or 6 with no fruits left is ..........

Find the LCM of 18, 54 and 81

Largest 2 digit number that is exactly divisible by 19 is .........

LCM of two numbers is 24 and their HCF is 4. If one number is 8, then

the other number is .......

Do as directed.

List first four multiples of 17.

Find the first two common multiples of 8 and 6.
Find the LCM of

a) 16,24 b) 15, 30
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I1.

12.

13.

14.

Write all the multiples of 13 less than 70.
Karun is making a garland with 40 flowers. If he puts a rose flower on
every 7% place, at what places will the red bead appear?

Which of the following numbers are multiples of 4.

a) 342 b) 454 ¢) 600 d) 176
Find the LCM of
a) 15,40 b) 16, 30, 42

LCM of a pair of numnbers is 4 and their sum is 6. What are the num-
bers?

Find the number closes to and smaller than 100 which is divisible by 2
and 5.

Write all numbers less than 100 whcih are common multiples of 8 and
12.

LCM of three different numbers is 4. What are the numbers?

Sharan jogs every 4" day and Satish jogs every 6" day. They are both
jogging today. How many days will pass before they both jog together
again?

Every sunday, Raju, Rahim and Richu visit an Old Age Home. The
rooms in the Home are numbered from 150 to 200. Raju visits rooms
which have numbers that are multiples of 3. Rahim visits rooms which
have numbers multiples of 5 and Richu visits all the rooms. Which
rooms do all three of them visit?

Dev has some marbles. If he makes groups of 3 each, he is left with 1
marble. If he makes groups of 5 each, he is again left with 1 marble.

How marbles does he have?
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10.

11.

12.

13.
14.

15.

Fill up.

Lesson - 6

Fractions

. ) 23
Mixed fraction of — is .........

2
3

g

5

8
Reduced form of o 1S e

. 3 1 .
Difference between T and 7

A fraction with numerator less than denominator is

What part of 96 is 16?

. 4 .
Improper fraction for 10§ is ..

2 _4
15 O

What should be subtracted fro

There are

m —

9

. 1
halves in 12 5-

Adding one fifth to three fifth gives

If there are two dozen mangoes and one dozen bananas in a basket, the

to get

fraction of mangoes in the whole basket is

7 4

O-g 3

26-
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16.

17.

18.

19.

I11.

If the denominator of a fration is greater than numerator, then the frac-

tion is ........ than 1.

1 2
The value of 7+—+ —tot ottt =

\oo
\o\l:l

= al \°)

1
6 hours is ........ of a day.
Do as directed:-

Write in descending order.

S 55 5
1271171713

Into how many parts would you divide the length between 0 and 1 to

represent the fraction — e

. . . 6
Write three equivalent fraction for 7

Hari walked Z— of an hour and Ruku walked ;— of an hour. Who walked

for a longer duration.

1 2
Add c and gpictorically.

6
Find an equivalent fraction for ry with denominator 56.

Write down the next three numbers.

25l .2 L

55 .5-,5 4= 4— . S :
3°73°7 37 73

1 1
Mr. Gupta moved by of his lawn before breakfast and 7 of it after

27-



10.

11.

12.

13.

14.
15.

16.

breakfast. What fraction of the lawn is still left to be moved?

Circle the fractions that add together to make 1.

2135 0513 2
Y YT g ) 388 %
1 7 2 3

9 %66

Fill in the boxes

4_8_0 20 2_lo_O0_0o
) 0 15° D) 377918

5 . 3 .
In a school, 10 of students come to school in the school bus, 10 ride to

17 C .
the school on bicycles and — students walk to the shcool. Which is the

60
most used and the least used mode of travel by the students?
What should be added to 2— to get 1.
Appu solved 10 questions of an exercise of 40 questions. Radhika solved
i— of the same exercise. Who has solved more questions?
What fraction of numbers between 50 and 60 are prime numbers?
Write all the proper fractions whose numerator and denominator are
Prime numbers between 1 and 10.
Tick the sentences that make sense and cross the ones that don’t.
a) I jogged ;— of the way to my destination but I was tired, so I jogged
back.
b) Tuse 2 cup of milk for my cake recipe, but my friend uses S cup

3 9
for the same recipe.

¢) “I would like the smaller half of the sandwich, Please”.

8-



Lesson - 10

Measurement

I.  Fill ups:-
1. 43kg=...... .
2. 14l=..... ml
3. Tml5cm=....... cm
4. 5000g=......... kg
5. 3110ml=.... ml
6. 4m=..... cm
7. 9kg35g=........ g
8. 574m=...m....cm
9. 64cm=.... cm......... mm
10. 2.675km=....m
I1. 0.750kg= ....... g
12. 5.008 kg=....kg ....... g
13. 999 g=...... kg
14. 0.2571=...... ml
15. 6421=....01.... ml
16. 1895 mi=....... /
17. 220=....m

2
18. 2.5/=..... ml
19. 750 mi = ...... [
20. 451= ... ml
21. ... is the basic unit of length.

22. To change from a smaller unit to a bigger unit ......

23. To change from bigger unit to a smaller unit .......
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Solve

80m 15cm+ 12 m 37 cm

6kg240g+3kg970 g

27m45cm+5mScm

71392 ml+ 61745 ml

7 kg 200g + 800 g

8m50cm —5m56cm

16 kg 240 g — 10 kg 300g

81—-51350ml

51245 ml—2 1300 ml

Answer the following

A tank was filled with 500 / of water. During the day 19 / 700 m/ of
water was used. How much water was left in the tank at the end of the

day?

1
Nisha bought 3kg of fruits. She bought IZ kg apples, 750g grapes and

the rest were mangoes. What was the weight of the mangoes she bought?
Peter weighs 30 kg 500g. Julie weighs 1 kg 750 g less than Peter. What

is Julie’s weight?
Amit went for a picnic. The journey was 25 km long but after 16km
750m the bus broke down. How much distance was still left?

A tailor used 1m 25 cm cloth for Suman’s shirt and 1m 90 cm cloth for

Ritu’s shirt. What was the total length of cloth used for both the shirts?

-30-



N kW

10.

II.

Lesson - 11

Perimeter, Area, Volume
Fill ups:-
To find the distance around a field we need to know its ..........
The area of a rectangle is 40 sq.cm. If its breadth is 4cm, its length is
The area of a square of side 1 cm is .........
The perimeter of a square of side 1 cm is ........
The volume of a cube of side 1 cm is ........
The side of a square of peimeter 36 cm is .......
The area of a rectangle is 36 sq.cm. The rectangle is divided into two
triangles of equal area. The area of triangle will be ......... sq. cm
The amount of space inside an object is .........
All rectangles with perimeter 12 cm have the same area. (True/False)

All rectangles with area 36 sq.cm have the same perimeter (True/False)

Word Problems

Find the length of the border needed for a quilt of length 250 cm and
breadth 150 cm.

A square field has a perimeter of 480 m. What is the length of its side?
Find the area of the field.

What will be the cost of mowing grass in a rectangular field of dimen-
sions 240 m by 120 m at 10 per sq.m.

Bhanu walks around a square park of side 120m. If he takes 2 rounds of
the park, how much distance does he cover?

Find the quantity of oil that can be filled in a can of length 30cm, breadth
30cm and height 50 cm.
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There is a flower bed of 80 c¢cm long, 40 cm wide and 2 cm deep in
Shruth’s garden. Find the amount of soil the gardener dig out to make

the bed.

Find the volume of air in a room 12 m long, 8 m wide and 10m high.

Lesson -12

Time and Temperature
Fill ups:-
Rahul’s flight is at 10:30 pm. In the 24 -hr clock this time is written as
The cricket match starts at 2120 hours. In the 12-hr clock, this time is
written as .........
Navin does Pranayam for 10 min. every morning. How many hours
would that be in the month of April ........
........... minutes in 2 hrs.

360 minutes = ........ hrs.

Solve

4h40m +6h 10 min

3 years 8 months + 2 years 5 months

2 h 25 min + 3h 50 min

11 years 7 months + 14 years 5 months
8 h 50 min - 6 h 35 min

8y 6 months - 2y 4 months

10 h 20 min - 4 h 45 min

3 y 2 months - 2y 7 months
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III. Word Problems

1.

The plane was at the airport for 1 hr 20 min for refuelling. Find the
number of minutes required for refuelling.

During a T.V. programme, there were 7 breaks of 20 seconds each. The
breaks lated for a toal of ........... minutes.

Jyoti spends 105 minutes every week in reading the newspaper. How
many hours is that?

A tourist bus takes 4 hours 50 minutes to reach Agra from Delhi. One
day it broke down on the way and took 1 hour 80 min longer. What was
the duration of journey on that day?

Mr. Kapoor was in Delhi for 3 years 5 months. He was in Chennai for 1
year 11 months. How much longer was Kapoor in Delhi?

Manu started his homework at 6:55 pm and finished it 1 hour 5 minutes

later. At what time did he finish his homework?

Lesson -7
Decimals

Write the place value of underlined digit.

a) 62.34 b) 1.046 c)2.518

Express as decimals.

a) two hundredths b) one and three tenths
15 7 4321

9 10 D o0 ©) 1000

Express as fractions.

a) 3.5 b) 0.8 c)0.93 d) 0.125
Compare
a) 03[ ]02 b) 0.275[ 1
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¢) 9.1 [ ]9.01 d) 2.35[ 236

Rewrite in ascending order.
a) 1.1,1.01,0.11, 1.11

b) 21.1,2.11,0.211, 0.121
c) 8.0, 808, 0.08,0.0098

Solve

a) 0.1+0.11+1 b) 6.42 +6.041 + 3.1
c) 14.1+6.93 +0.487 d)3.25-1.46

e) 1-0.05 f)8-3.9

g) 391-14 h) 342 x 10

i) 0.94 x 10 j) 12.24 x 100

k) 0.14 x 1000 1)53.8+10

m) 725+ 100 n) 456 + 1000

o) 14.8+100

In a long jump competition, Mohan jumped a distance 1.2m, 0.97 m
and 1.3 m. What was the total distance he jumped?

Satish is going to his Granny’s house. He has covered 1.15 km. He is
still 1.32 km away from his Granny’s house. How far is his house from
Granny’s house?

Madhu had ¥100. She bought a baseball cap for I75.75. How much
money is left with her?

Raju, Sanju, Sam and Rohan study in the same class. Arrange these

students in increasing order of their height.

Name Raju | Sanju | Sam | Rohan

Height 1.05 | 1.12 | 098 | 1.35
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II.

10.
13.

10.

13.

16.

19.

Fillup:-
71

6

7

LCM
162

Do as directed.
17,34, 51, 68
13, 26, 39, 52, 65
a) 120 b) 1680
24,48, 72,96
165, 180, 195

Fill up.
3

Answer key

Lesson - S Multiples

2. 14,28

5. greeater than

8. 5,15

11. 2

14. 95

2. 24,48

5. 7,14,21,28,35
8. 2,4

11.1,2,4

14. 16

Lesson - 6 Fractions

5. proper

11. 3

14. 2
" 36

17.4

-35-
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18.

32
product
24
12
12

a) 48 b) 30
600, 176
90
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III. Do as directed:-

23235 2. 11
1112 13 17
12 18 24 .
3. 2 °721° 28 4. Hari
5 6 e
. - . 56
2 1 1
3= 3— —
7. 4, 3073 8. 1
o o L3 NI
9 47 ) 3508
123
Rl
g 48 12200 2 10 6 12
- 8) 5 10 15725 )3 15 9 18
11. Most = School bus, Least - walk
12, i— 13.  Radhika
] . 222335
"9 ‘ 3°5°7°5°7°7
16. a) x b) v c) x
Lesson - 10
Measurement
1. 43000¢g 2. 14000 ml. 3. 715 cm
4. 5kg. 5. 3010 ml 6. 400 cm
7. 9035 g. 8. Sm74 cm 9. 6 cm4 mm
10. 2675 m 11.750 g 12.5kg8 g
13. 0.999 kg 14.257 ml 15.641200 m!
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16.
19.
22.

II.

10.

IL.

1.8951
0.750/
divide

92 m52 cm
141 137 ml
5kg940 g

480/ 300ml
8 km 250 cm

perimeter
4 cm
18 sqm

false

800 cm
960 m

960 cu. cm

22 :30 hrs
120 min

17.2500 ml
20.45000 m!
23. multiply

2. 10kg210g
5. 8kg
8. 21 650 ml

2. lkg
5. 3m15cm

Perimeter, Area, Volume

2. 10 cm
5. lcu cm

8. volume

2. 14, 400 sqm

5. 45,000 cu. cm

Time and Temperature

2. 9:20pm
5. 6hrs

-37-

18.2500 m!

21.metre

W

32m50cm
2m94 cm
21 945 ml

8kg750 g

1sq.cm
9 cm

false

2,88,000 rupees
6400 cu. cm

300 min = 5 hrs



I1.

10 h 50 min 2. 6y 1 month 3. 6h 15 min

26y 5. 3h 15 min 6. 6y 2 months

5h 35 min 8. 7 months

80 min 2. 2 min 20 sec 3. 1 hr 45 min

6 h 10 min 5. 5y 4 months 6. 8:00 pm
Decimals

a) 3 tenth b) 6 thousandth c) 2

a) %) b) 1% c) 1.5 d)0.07 e)4.321

D D 9y T

a) > b) < c) > d) <

a) 0.11,1.01, 1.1, 1.11 b)0.121,0.211, 2.11, 21.1

¢) 0.0098, 0.08, 8.0, 808

a) 1.21 b) 15.561 c) 21.517

d) 1.79 e) 0.95 f) 4.1

g) 2.51 h) 342 i) 94

j) 1224 k) 140 1) 5.38

m) 7.25 n) 0.456 o) 0.148

347 m 8.2.47 km

324.25 10. Sam, Raju, Sanju, Rohan

seskeskoskskok
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